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ly two real x

the lines x+y=>5 and x—y=1 and has
area 9, then the equation of the circle is :

<. x2+yf 6x—4y+4=0
o\ (2) x?+y?—6x—4y—3=0
(B) 22+y?—6x—4y—4=0
(4) x*+y?—6x—4y+3=0
) > -4

\%

3. A variable plane is at a constant distance | 3.

p from the origin O and meets the set of
rectangular axes OX; (i=1,23)at pomts
A (i=1213), respectivélx,"._!;f‘ )
drawn through AI? A,z . :s?-. wh
parallel to the coordinate iplanes, then the
locus of their point of intersection is :

M) 22 +23 +22=p°

4 5% % 5

- q4llog, (2% +3) T{ﬂ'f"él’*ffﬁ!

- If a circle has two of its diameters along | 2.

’?'5*@
*%?

TE?
(1) x% T 9 s grafas 7@ & fog)
(2) x o foet ft arafas 7@ F fog 70|
(3) x % had TH dAraE 9 & A
(4) x% %H9a T grEafgw wH & fag

IR TH ga & Q W W] x+y=5 a0
x—y=1% ergfew & aon forre &rat 9w %,
e skakiricaul

(1) x2+y2-6x—4y+4=0

(2) x2+y?-6x—4y—3=0

(3) x2+y?—6x—4y—4=0

(4) x*+y?—6x—4y+3=0

T o HHad qartag O ¥ T 3= g p
@@ § R g v % g
OX;(i=1,23)® fagelia, (i=1,23) W
wAN: ViR w €1 A Ay, Ay, AW
frite s & R W @ W €, @
T whreds fig w1 fig wu ¥

2 2 2 —ai
(1) =x +x +x3=p

1 b | I
& Yt

X1 X2 X3 P

1,1 .1 _1 1,1 .1 1
- =+ =+ === —t+ =+ ==
@) x?‘ x% x% p2 ®) x12 x% x% pz
1 .1, 1 1 1 1
-+ =+ == =4+ =+ =
(4) x? xg xg p3 (4) xi’ xg xg p°
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observations xy, ¥, ....., X are 2and 3

ectively, then the mean of
"-1-1)2 (x + 1), ......, (x40 +1)? is equal
18.0 :
13.5 f/,g’/
14.4 gon = P9
16.0 ¢ .
i
l" __r‘-'L '}@
e ,[1 53m2r = f(g) $C , theh
cos® x sin’ x cos” x
flx)is: / i
(1) —cotx j > >
(2) —cosec x
(3) cosec x
(4) cotx
1 %

6. If Sk=(0 ]},keN,whereNisthesetof
natural numbers, then (S,)" (5,) 1, for
neN, is: nyy v

2
A Sy H]l (1}
(2) SZH + k-1
®G) Sppp_y D \\ 2
\ ’B_\ £
@) Sy ‘ % AT
Y 4 \ o\
\'o |

7.  Consider the differential equation,
ydx—(x+y2)dy=0. If for y=1, x takes
value 1, then value of x when y=4is :

3fe 10 J&VT 2y, %y, oo Xy BT HIEH qAT
nEE fagad w9y 2 991 3 8, €
(x;+1)2 (x,+1)2 (x10+ D2 F1 WA

.......

?:
(1) 18.0 > 1% 4
) 13.5 e
(4) 16.0 w 130
Iz 7o
ol
qﬁJ-ISSmxd 1) o4 q ==
Cos” X SInH X COS X
. I
fx) TR S l s
(1) —cotx Z,;gxsr’a’n. : -
(2) —cosec x Q_"“ Cs S
@) cosecx ST — 522
(4) cotx (282 tan - :

afg grgd gemal & 9H=a N & fau
sk=[1 k], keN 8, @ neN & fag

0 1
Sy" (Sk)_l% : i o L
1) Soy_ & Aﬁ"" o A *
(2) 5211 + k-1
B Spryp-g
W s, .

FIH AT THH ydx — (¥ + §a)dy=0 T
foram i1 afg y=adF e WA 17,
qAy= 4%1‘Wx$rnﬁt -

1) 64 ) y b (1) 64 o
9 %\ 0 2) 9 ’ vl
16 @) 16 e
36 4) 36
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8.  Let f{(x)=|x—ay|+|x—x,|, where #; and x,
are distinct real numbers, Then the
number of points at which f{(x) is minimum,
i.i :
(1) more than 3
@ NN/
) 2
4) 3
; x=4 _y—2 z-—\
9. If the lines 1 1 3 and | 9.
+2 .
=Y 2 - % intersect each other, then
\ lies in the interval :
1) @ 11)
2) '(=5,=3)
3) (18,15
@ @3, 15) %
(4) (11, 13) .
\iﬂ""' 2 4
¥,
= sz O %
10. Let f)=1 [ AN
a + bx? if | 2 .V\;Y“’\
s
then f(x) is differentiable at x=—2 for : .
r
3 1 N
=Zandb=— 47
1) a 7 T
3 1
e d — — —
K(}}/a g el 6 YV
1 1
@) #=-gadi=g
1 1
=~ andb=— —
W a=za 16

A flx) = |x — x| +|x =%, %, Xy AT, x2

e arafares weamd €, ?ﬁ%’iﬁ'@aﬁ?ﬁm
59 W ) &1 T g €8

(1) 39 s
2 1
@) 2
4 3

(13; 15)
@) (et

@

ro| L x| > 2
ar f(%)= |«
a+ bx? afe x| <2

§ £=—2mﬂx)aaaw=ﬂa%,2rﬁ:':

(1) a=%'c12ﬂb=%

(2) a=%ﬂﬂTb=—f—6
(3) a=—%?¥ b—%{)
(4) a=%ﬁﬂ15=—%




12y is divided by the line x=3 in
./The area (in square units) of the

g 21" LetPbea point in the first quadrant lying
on the ellipse 9x2+16y%=144, such that
the tangent at P to the ellipse is inclined at
an angle 135° to the positive direction of
x-axis. Then the coordinates of P are :

o (33

o (43

13. Suppose that six students, including
Madhu and Puja, are having six beds
arranged in a row. Further, suppose that
Madhu does not want a bed adjacent to
Puja. Then the number of ways, the beds
can be allotted to students is :

(1) 384
(2) 264
480

'(4) 600

12. |1 P, 9% wgafe &t g & e
9x2+16y2 =144 T foum ? qur <bqq o
fg P &=l T vl [ x-31 U
feen & w19 135° %1 w1 R § D PAR
frdwi® g :

e [E 3) W”’“"%'_ :
5°5 i
o 'ppkﬁm'.’-_,
y/2 m 1 ‘3\‘-%'”5
(2) .3’_/2 ¢
32@ B
8§ 77 <y -
o 5] Ve o e
- g Wod T
(4) [i 1] ;V
’ Y

13, F: Frenid, forrd g wen o e
§ & v wF e § efen 5 e | Y
SR 7Y, on % Fer aren fowr = =, @

o o=l 4 ar faw faenftial 1 fag
THFA L, T T HEATE :

ouy 11 %,
(1) 384
(2) 264 %
(3) 480 S
4) 600 /
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14. 1f the point (p, 5) lies on the line
parallel to ‘the de passing through
the intersection of the
2(a? +1)x + by +4(a* +a)=0 and
(@ +1)x —3by +2(a3 +a) =0, th_ﬁ_t}_}p}_is_
equal to :

1) 3a 9@4 DUCISE “654*‘1‘)4

N

@ —3a
4) 2a

lines

A

15. f(x)=|x log, x|, x > 0, is monotonically
decreasing in :

1) (er=)

@ (03

°—

i

2[e4) P 451+ o'+

14.

15. f(x)=|x log, x|, x > 0 fora Hawa H e

)+ APe¥(

afe fig (p, 5) U Y@ W Fer & S y-oe &
AT £ ag1 Tl
2(a% +1)x + by +4(a’+a)=0 q41
(@ +1)x=3by +2(3+2)=0 F g fug
| B S 2, ??lpEFT"TT'Tg

(1) 3a
(2) —2a
(3) -—3a
(4) 2a

e &, agk

3!‘“)
@ ? '3

o [t !

@ @.¢ , n— @ @9
ne | 0
16. = I}V"'?f , o e 16. 'qﬁ,f(x)=]:—c;;
f@) %‘ = f(a)
J x ¢{ x (1-x)) dx and o\"\ ") Iy = j' % gl x (1-x)}dx e
f(-a) £ f-2)
f(a) f(a)
Ip = j glx (1-2)) dx I, = J glx (1-x)) dx
f(-a) fi-a)
where g is not an identity function, Then e g T woawE B T R, 'cﬂ "qa*T A
I
thevalueofﬁi.s: 2,
1) -1 1 -1
2 @ 3
3) 2 @) 2
o A 4 1
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nds at a point A on the
rcular park of radius a ahd
gle. o at another point B on
If the chord AB subtends
'the centre of the park, the
_&mle is :

‘ cola
g 2

B .«
WD n sin— tana
> 2

wn

¢h
3) 26 cos% tano

o p

. (4) 2a sin% cote

! 3s
18, Let f' <@<m and

JZ cot 6+ 12 =K~— cot 0
: sinco

then K is equal to :

17. oS0 91 U geita e = e w e

18.,

fiig A T UF SeaieR @ @ & S uREEr
& @ o fag B W HW o Fala Fal ¢
gfe S AB gHIE Ui & g W HI00 o SaRa
w1 8, W@ S

«
2 — cot
(1) a cos 5 cofex
(2) 2a sin% faro
o
2 — ¢
(3) a cos > ano

.
2a sin— cofa
(4) >

wm?’f<0<w%aﬂ1

1
\/2 cot 0+ —— =K = cot 0 g,
sin” 0

KA R :
a 1
@ -1

@) 0

@ Y
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19. Unit vectors 4, b, ¢ are coplanar.

-3
A unit vector ¢ is perpendicular to them.

If (:x F)x(? X _a?) = %T = %? + %i

— -
and the angle between sz and b is 30°
-u,
then ¢ is/are: La bd]8§f%6167

A A A
=2i=2] %k
3

)

s o A
£ | =i =2f+ 2k
@ H—=

A A A
2i +j—-k
3

3)

A A sl
—i + 27 -2k

@ =%

20. Let N be the set of natural numbers and

for aeN, aN denotes the set {ax : xeN]}.

If bN n ¢cN=dN, where b, ¢, d are natural
numbers greater than 1 and the greatest
common divisor of b and ¢ is 1, then d
equals :

1)
)
@)
(4)

b+c
max (b, ¢}
min { b, ¢}
be

20.

N

v W
A N WP Wemsl &1 99=a € 74l aeN F
forg aN WHS (ax ; xeN) R 2|
BN A cN=dN &, S&b,c, d 19 &
W WA ¥ e b a0 ¢ 1 HEaH WaIedeE
1§ MdwmE?:

(1) b+c
(2) max{bc)
(3) min{b,c}

(4) be

M/Page 8

SPACE FOR ROUGH WORK / 7% T % fg g




(1) circle with centre at origin and
ralius [2pm].

(2) line parallel to x-axis at a distance
[2pm| from it.
line parallel to y-axis at a distance

[2pm| from it.

(4) line parallel to y=mx, m#0 at a
distance |2pm| from it.

21 M A =(x+1)2-1, x2 % WA ;

w«/\?

PR T ETRI P =]
1) # R efuw sqaaa“ﬁ-r*ef-_?m&ﬁ i)
g o )
(2) U e gg=a g i
f.i ‘:\'\ r:-
(3) § ¥radt uF sAmE £l !
(4) 3 e Q st ¥ 7

m’/"

1 22, e x2=4py =1 Saned, ot e m R,

-

% wey fagal =1 foig vu -

(1) U= ga ¢ o ¥= qw fag 2 aan e
[2pm| %1

() TE @ E S x-918 F FHIGR § a1 35
[2pm| F1 T W

(3) U (@ ¥ S y-319 F AL § a1 S
[2pm]| & §U W B

(4) y=mx, m20 F GHIG @ T 991 Y
[2pm| &t T W R

%\,\”{ Mw %

23, If the roots of the equation 23, gfe THiET
1 1 1 ) ) 1 1 1 Q fi/
x—ﬂ;-‘—;&‘; are equal in magmtude x—-;-;"-x_-l-E:F a,; -;Eq gfoam -q’ qaE % qan
and opposite in sign, then the product of faqdia famdl % €, @ 5@l &1 ERaE €
roots is : ) vx-\‘i)
4 e O e
1,5 5 n¥ N, ) 1 F
(1) - _2_ (P —q ) s ,:/D'l/ &} &(1) — (pz._qz) '}K " (')
o ¥ BV )-o YV a4/,
@ @+ 207 @ @2rad) vk
Aﬁ)“M N2 20
1 2 2 ) ?"ﬁ'q/ 1 ¥ A \(
3) 2 (p~+q~) X L (3) 5 (p2+q2) chl, .\‘Qh
. % o ; ‘Lk\,t/,-z d
. (P*+q%) 1 P*+q%) QA
4 —-3 4) - —-({p°tq n"
: & 2 gl L//I/
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24. A  biased coin with probability

p, 0 < p <1, of heads is tossed until a head
appears for the first time. If the I;ro_bability
that the number of tosses required is even

is %% , then p is equal to :
| m %
@ 7
3 4
(4)? 14

25, If

|
| 8 47 46
! 45

23 34

S

4849  49.50

i

f 51 . 3 1 1
mioe & |1 # S Y @ s ,
, 2 [ 2 3 50],!11&11

K equals :

M 2

2 -1

@ -3

@ 1

24,

25.

ww afwaa foswr, fagd fau @ &
wifawdl p, 0 < p < 18, T8 7% IBw o
54 9% & geet ar fau 7 @ v 3k =
MY YATE] &1 & 99 g4 &1 wfasa
%%mpiﬂﬁﬂ'g

1 %

48 47 46 2 1
23 34 45 4849 4950

51 l 1 1 - =
-+ K14 =+ =+ o —
( 2 3 50)"5-“'

@) -3

4 1

M/Page 10 SPACE FOR ROUGH WORK / 7% ®Td & f¥ty iy




- — - B SRSRSS - —

i

p)(x —q)(x —r), where | 26. gfg f(x)=(x=p)(x —g)(x —1) T, STEl
xreal numbers, then the p<g< r aTEifas @ €, ?ﬁf A F
ofRolle’s theorem on f leads g & sayam 9 faear 2

(B8 r(ar+rp+pg)=3 (1) (p+q+nXar+m+pg)=3
(p#q+1)?=3(gr+p+pq) @  (p+g+n?=3@r+mp+pg)
] "-+q+r)2> 3(gr+rp+pg) (3) (p+q+n?> 3(gr+rp+pg)

(@) (p+q+n72 < 3(gr+m+pg) (4) (p+q+n?<3(gr+m+pg)

‘-:i:'- 1m of the last 30 coefficients of powers | 27. (1+x)%% fgug war ¥ aif<m1 30 %1 & x #

“of xin ﬁ]e binomial expansion of (1+ x)*° Tl o T[] 1 AT R :
s
(1) 258 (1) 258
(2) 229 (2) 229
@ 22 @ 2%
i )4,.) 259 _ 929 (4) 259 929

28. If z is a complex number of unit modulus | 28." 3 2 T @iy wem ¥ forae wmiw 18 a4

and argument 0, then the real part of ) z(1 — )
A1-%) HOE 08, N Z7 ) I RAAE WM E
Z(1+ z) ®°
2 8 2 0
(1) 2cos 5 _ (1) 2cos >
(2) 1+ cos % @) 1+ cos %
3) 1-5'm-g* (3) l—sin%
.20 .20
~2sin® —~ -2 =
(4) s o (4) sin”
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29. Let p and g be any two propositions. 29, Wl pdAA g FE < Weg

Statement1: (p > q) © gv~pisa FTETL: (p - q) © q v ~p T T 2|

tautology. r @ n

Statement 2 ! ~(~p A g) A (P V q) (—)fis a TIT2: ~(~p A g) A (pvg) <> pTH SAH |
fallacy. :{
(1) Statement 1 is false and statement 2 (1) U138 ¢ 991 FY7 2 FA 2|

is true,

(2) Both statement 1 and statement 2 are
| true. (2) HYF 179 FY9 2 S 9 £

(3) Both statement 1 and statement 2 are

[ false. (3) FYA 179 FYF 2 A HAEA B
|
(4) Statement 1 is true and statement 2 : )
is false. o (4) FgT1 T §aU FUA 2 A |
| : 30, In a AABC, if i . = (0, then 1@ b
h ' € a=" 30. TF 'WABC'H, A 4L K 4=0 8, @
' 1 b e B TR, 1 AT U Hpop o
1 .. ey . T
sinA + sin?B + sin?C is : sh'le+81nzB+sin2Ct:
33
M = (1) %ﬁ
| 9
(2) 9
4 e
| @ 7
|
| 5
= 5
I L @ =
|
| o) 2 @ 2
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Answer Figures | W STFTaal

Y

AT

(1)

O 2 ® @

a

AD (2) 3) (4)

ptions : (For Q. 34 and 35). The problem figure shows the elevation of an object. Identify the
correct top view from amongst the answer figures.

¢+ (W 34 3iV35 & forg )1 w7 st A [l aeg o7 GRIE gV 1@l 74 €1 SR SFiadl 7
| 7 s Gl S g9 Ve

v Figure | F¥7 3Fld Answer Figures | ST Sglaal

D QO m =

(2) 3) (4)
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Problem Figure | ¥4 3igpid Answer Figures | I STFTa

o\ |

(1) A2 ©) (4)

Directions : (For Q. 36). Which one of the answer figures will complete the sequence of the th I‘_a.:'

problem figures ?
v (W36 B PTG I T F @ F & gy @ AT wer sy F o @
(sequence) I g S ?

Problem Figures / WY STpfaal Answer Figures | SR SFfaal

Bl 4P 9k
By e oW @ e

Directions : (For Q. 37 and 38). Which one of the answer figtives, shows the correct view of the 3 - D
problem figure, after the problem figure is opened up ?

39T : (W. 37 ST 38 & 7)1 3- D W97 30l %1 @ieTd W, IR Tptad] § 3 Tal Gvd HiT g7
Problem Figure | ¥& HIFld Answer Figures / IR 3TgHiaal

§
L on e TR W]

|}

1
[]

s [T
B

8 [
gmn

L1
[[1]

|
[

LLLL
L

[
3
=

——

1)

=
S

(3)
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14 @) 15 4) 17

1) 15 @ 11 3) 12 \/“’/14

3) 12 4) 13
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\J})/lf; 4) 14

3) 16 4" 14

gd' Directions : (For Q. 45 and 46).  One of the following answer figures is hidden in the problem figure,
: in the same size and direction. Select, which one is correct ?

CRET: (W45 946 FRI)1 AR D T S A A @ v ey @ ik e ¥ wur w9 @
v sl A fodt &1 #i & 98 & g

'"Problem Figure / 597 3ihid Answer Figures [ 3 JW
| 7

I 45. ' é s 4 j

Hr" (1) @ 3) 4)

“lB5 0 4 © &
[ ‘ | O B @)
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For Q. 47 and 48). The ,p-r\fgb;gm;}'@y?:{.gshows the top view of objects. Looking inithe

direction of airrow, identify the correct elevation, from amonggégg
T ; A , _"I . ; . _’ ; "

ans
47 3if 48 & PR )1 W B

I
v
«

T e AT

@) ' @)

5
]

3 4
- Lo \y/

200 | |
48 @%O H_LFIJ;LI | O
& 1) (2)

(4)
: N
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fEer : (W49 @52 §:’ﬁﬂ'¢)f

Directions : (For Q,49't0 52).

Eem————e———

Find the odd figure out in the problem figures given below :

T4 & 7 g wtadl 7 @ Ay agEfa aad |

2

1N

49. \kL//

(1) 2) (3) e
2 (4)
) (4)
(1) 2 } (4)
Directions : (For Q. 53 to 55). The 3 - D problem figure shows the view of an object. Identify, its correct
top view, from amongst the anstoer figures.
FdeT : (W53 @55 % RTT )1 3- D ¥97 SFtd 7 Ta o) %) @ 7 &1 59 we S v, IR
[ sFtad 4 @ gg=ng/

Problem Figure / Y97 STl

RN r 7

SPACE FOR ROUGH WORK / T% &4 % fT Wz

Answer Figures / 3T STl

L]

l
N

A4)
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\)1»/ 2) @ @)
~ v

W Directions : (For Q. 56 and 57). The problem figure shows the top view of an object. Identify the

correct elevation, from amongst the answer figures, looking in the
direction of arrow.

VRl (W56 sits7 FRIm)1 v s freh aeg 9 S v e &1 R w few F

3@ §Y ST HFHAG 7 | FGH Tel THE G99 TG

Problem Figure / Answer Figures /| IR igtaal
¥¥7 gl '
56. @ \/

57.

(1) (2) 3) (4)

[ o I R I

\)n/ @) @3) )

l\_%‘?ﬁge 19
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— g
Directions : (For Q 38 and 59). How n't-'c{'ny minimum number of straight lines are required to draw”
: the problem figure ? :
29T : (W. 58 3059 & fag) 1 19 & 7 997 sugia # a9 & Q&9 G F, fhaat e @rei
| I FVIHAT & 7 ,
| | 3
Problem Figure / ¥¥7 gl 1
| i
58. A
AME é )y
| W X N S 3'
| 5 Vieutie. i
oL : i i
4 1y 21 | M 3) 19 4) 20 g
B 14 - 3 10. @ 9
s, (For Q. 60 to 63). The 3 - D problem figyre Jgﬂms a view of an object. Identify the
correct front view, fr'oirl“h ngst the answer figures, looking in the
e 4 direction of arrow. L
ST (w60 @63 F RIT)

Problem Figure | W7 3lgld

3- D ¥ 371t # Qo g W Qe vq el T €1 di B
A 3@d §U, $% WEl G §vT F1 I Fladl 4 § @AY
Answer Figures / St 377?’#’"'3?

60. L] _ [T L] []
w U [] | |
M e © @)
61. 0 [ [O F :| E }
] -
(2 @ &V @)
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. "'Wn !‘dq

] -.J-’f.-.d "Figure / 37 SUFd Wﬁ‘”
|

’ Wh. ;

"3
— (1-}_‘_;-_..!’.1;"%

|| (")JT_': LT

(1) e R zﬁl () .;

) i ¢ ';L!.« ' : T

5 o =l

%
& O &

Directions : (For Q. 64 and 65). How many total number of tmngfec are there in the problem figure
given bez'mv ?

ii”-’ 39T : (W 64 365 @ forg )1 714 & 7 g7 amta 7 By w1 o 9@ e 87
e
- Problem F:'gur_ql’ / F¥T Sl

@) 13 11

65. | h
N |

po, (M 9 @ 11 Gy 12 @ 10

|
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66.

What secondary colour is obtained by
nﬁxinw(w‘j

(1) Brown
(2) Pink

(3) Purple v TourY oRE€

) \(}}” Orange

67.

Why do large industrial buildings have

high located glazing on the North side ?

(1) Because the sun stays on the North
side throughout the day.

. (2) Toget bright sunlight throughout the
\

day.
(3) #To stop the workers from looking
outside.

\/0,)/‘ To get uniform shadow - less light
through the day.

68.

69.

70.

Fatehpur Sikri was built by :

T Shah Jahan

(2) Jahangir
(3) Akbar
(4) Humayun

Which one of the following is an odd
match ?

(1) Hot and Dry - Jaisalmer

(2) Hot and Humid - Chennai

(3) Cold and Dry - Ladakh

\/(.4)’ Temperate - Shimla

Which one of the following is a sound
reflecting material ?

(1) Fabric

(2) Thermocol

(3) Jute cloth

\/(M’ Glass

66.

67.

68.

69.

70.

4 st @ T 9 AR ¥ e @ e
791 (secondary) 41 fadm 2
(1) @
(2) T
@)
(4) TR

e ARNATE $ARal | vk w1 s faen 7 3=
TR I A S ?
Q) =i gd IR fom F = o7 war

@) e g = o= Qe R F fag

(3) T T B AR @ I F

m
(4) =T & wE o e & T T

% feu

e T Tl AT ol

(1) YESEl A

() SR

() @& A

4 TWEI

ﬁﬁﬁﬁ?.muwﬂa?ﬁém?
(1) TRH R - AHAH

(2) A SR T -

(3) <% R Y@ - @R

(4) ST (Temperate) - INERH
T @ -, i e gare €7

1) ‘FW -
(2)
(3) e wmim
(4)

)M/ Page 22
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Buckingham Palace is located in :
iy

(1) Singapore

(2) Paris

(3) London

Geneva

J 72. What/s texture ?
i
} 1)/ The way a surface looks and feels

(2) A solid colour

(3) A type of shape
(4) Lines drawn in one colour

v
73. Which one of the following material
cannot be used in its original form for
construction of walls ?

(1) Granite
( '. Fly ash
(3) Basalt

(4) Laterite

74. Who among the following is not an
architect ?

(1) Raj Rewal
(2) Zaha Hadid

’\)/’M F. Hussain

(4) Hafiz Contractor

75. Which one of the following is not a
matching set ?

®(1) England - 10 Downing Street

A San Francisco - Golden Gate Bridge
sl 3) Washington - White House

) Egypt - Mississippi River

72,

73:

74.

75.

@ %fEd

2% m wfiem Yo wal fam £7

(1) famgH

3) weTH
(4) wETH

rerkgst]

v
[t

WW%? il

1) fanmwmﬁ@?ﬂmmm
€

(2) THIMW

(3) T AT F HR

(4) w1 H o T

Sarl #1 T F fau, Freifed § Q@ S
gee AT W AR H TR e fhar o1
Tl ?

1) T

(2) wIE

(3) sERE

(4) TGN (AI)

e

T R T TR TE €2

(1) T @™

(2) FRIEER

(3) T TEA
(4) TEW FEIR

fr=rifea O @ SH-w 9q=E 99 & @m?

(1) I - 10 THHAT R
() B wiraws! - st 712 firs
(3) @ - =Ee Tew
4) frw - faeifadt sRa
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“Earthquake)
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Read the follo _

1. Part1 has 30 ok
consisting of F
response. Part]
questions cons

carrying 70 m
separate Dra ot
this Test Bog uestion are
written ag eac fncorrect

response
total n !

Answer Sheet and Drawing
or no clrcumstances (except for
paf Booklet Code and Answer Sheet
or vet will be provided.
. Tha ¢ dates are not allowed to do any rough work
W orW Iing work on the Answer Sheet. All calculations/
4 i writing work are to be done on the space provided for
this the Test Booklet itself, marked "Space
for Rough Work’. This space is given at the bottom of
each page and in 3 pages (pages 25 - 27)at the end of the
1 booklet.

Each candidate must show on demand his/her Admit
Card to the Invigilator. y

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her
seat,

. On completion of the test, the candidates should not
leave the examination hall without handing over their
Answer Sheet of Mathematics and Aptitude Test-Part1
& Il and Drawing Sheet of Aptitude Test-Part I1I to the
Invigilator on duty and sign the Attendance Sheet at
the time of handing over the same. Cases where a
candidate has not signed the Attendance Sheet the
second time will be deemed not have handed over
these documents and dealt with as an unfair means
case. The candidates are also required to put their left
hand THUMB impression in the space provided in the
Attendance Sheet. However, the candidates are
allowed to take away with them the Test Booklet of
Mathematics and Aptitude Test - Part I & I1.

7. Use of Electronic/Manual Calculator or drawing
instruments (such as scale, compass etc.) is not allowed.

8. The candidates are governed by all Rules and
Regulations of the JAB/Board with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations
of the JAB/Board.

9. No part of the Test Booklet, Answer Sheet and Drawing
Sheet shall be detached /folded or defaced under any
circumstances.

10. The candidates will write the Test Booklet Number as
given in the Test Booklet, Answer Sheet and Drawing
Sheet in the Attendance Sheet also.

Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the examination
hall/room.

11.

uﬂmtﬂﬂm(‘ ;
¥ s g 70 ot Fraffen €18
%wr&ﬁwmmmﬁtlm:mtnﬁ
A% ww % W hEa € ﬂmnfrwmnﬂm '
Terd INT & fa 39 WA & forg Fruifta e sfef F @
uw-wtarg (Va) siw o am H § e fag s | af
T o H el we T W W Ad fea man €, @ wa
4 W A R o T B S|

2. e Y, W A U g e H AFgES Farn
X, it et it ity § (Faa v s o
TR A F Fe | fima w1 feufa 91 gigex) qudt wdmn
e suered & FRmE s |

3. et ) s @ w e ot 6 w11 foag = e m
HE Ft SAlG T 8| Wi Tor vE faes w1 wm, e
gfe § fuifa se <t i ‘v 9 % foe s gm
rifea &, R 8 foran S | e S Welh S AT
AR o Y & sia F 3 (25 - 27) W R

4, gﬂ;ﬁmmqﬂmﬁfﬁﬂmaﬁmmm

I

5, wdierw 41 Frdes it ooy arafa % farm =g e
YN T A BIS |

6. hen wAm B3 R, Wendf fiast 1 o
ifom - W 1'gE sVl gl - s @ IR v
sifiref wleror- v 1= g wie S @i sufefy o=
ST WRIER ST W % wve @ vdan we o
1 7 W TG 5 I o Sww @ g e
e o ¥ A srpfere e w1 Aoft F w9
witeareft ararit o W & TS % Frev wufaRiaw
g g T W eEvg w1 wety, wdandf sroe
Tivra W& srfireta T - s 1T 1w e giem =
AW EFa ¥l

7. eI/ eeaTea Twas a1 grRa 3um (W e
e, HE $IfE) o1 A A R

8. Ren gt ¥ e ¥ faw vdandi w.¢.9. /4€ ¥ fra
wd fafaml g frafia ¥ smfaa @R wdm & asd)
IS T e o4 4, /8 % frael wd el & eran
B

9, fadt oft feafy ¥ wien Yic, W v @ FRI O 1
F oft w7 @ srem fen wmom 3k A @ Ay wrEm
F1ga] fammey s

10, Wt i1, 3o U3 Td 25 vz H @ wien Y
e f Wi gd Wk e wA it fedl

11. wdterret grT gdtan Ae/ &g ¥ vaw w18 & faam
ferelt weeTt &t uraR W, Hfsa o gatatea, wmer
w1 ateal, Us, WA W, Fagiiie SR a0
fereit o= wamTT &t WO S A A A ITEMTRTA R |

arpafa 7 &
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